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Q1. Answer/ Explain the followings. =10

a) Hydride ion (H-) does not function as nucleophile even though it lns negat;ve [CO’
charge. =

b) Write reaction to show production formation when the molecule A (g[
Reacis with excess methanol in presence of acidic medium.
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¢) Drawand exp]am the mechanism of following xeactl ;

““1*&4’ 76
/’% + 3N

———— \%

d) Design synthesis of compound

e) Draw the cychc iemiacetal that is formed when each of the following

blfunctlonal ¢ mpounds is treated with aqueous acid.

:_@e{ldljl‘éite amount of HCI required to prepare 150 ml of 5.0 M HCI from a {4]

Q2. :
: “concentrated solution that has specific gravity of 1.18 and is 36% (w/w) HCI [COV]
i, (36.5g/mol)
‘::"*'zl§3 b) When 0.150 g of penicillamine is dissolved in 20.0 mL of pyridine and placed in
a sample cell 10.0 cm in length, the observed rotation at 20°C (using the D line of
sodium) is -0.47°, Calculate the specific rotation of penicillamine.
Q3. Suggest any one synthetic method to prepare tollowing Amino acids (2] 9
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Q4.

Q5.

b. Draw a bond-line structure of the peptide that corresponds with the following sequence
of amino acid residues and identify the N-terminus and C terminus

Ala-Phe-Gly-Phe-Ala [2]
¢. Why rotation along peptide bond is restricted? Explain. [1]
d. What happens to amino acid structure a) When an amino acid is dissolved in a solution
ata pH of 1 b) When an amino acid is dissolved in a solution ata pH of 13 (2]
e. Show all steps necessary to make the following dipeptides selectively. [2]. .
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Give systematic name of following compounds Identify the stereogenie: centle plesent in B3]
compounds and how many stereoisomer’s possible (assign R/S or E/Z whelevel required). [con]
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a} In presgnc oﬁ base D glucose may be conveited into D-Mannose. Explain
ploduc



